
Thank you for your question on CMS334, Cesarean Birth (PC-02).  In response to the example you 
provided, the effectiveTime value should represent when the assessment was performed (not 
documented).  Assuming the assessment was performed on the same date it was documented, then the 
effectiveTime value would be January 2.  The QDM Attribute result would be June 6.  The QRDA would 
look like this: 

<entry typeCode="DRIV"> 

  <observation classCode="OBS" moodCode="EVN"> 
    <!-- Assessment Performed (V3) --> 
    <templateId root="2.16.840.1.113883.10.20.24.3.144" extension="2019-12-01"/> 
    <id root="1.3.6.1.4.1.115" extension="638d8cea6362390475374c14"/> 
    <code code="11778-8" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC" /> 
    <text>Delivery date Estimated</text> 
    <statusCode code="completed" /> 
    <effectiveTime value="20210102" /> 
    <!-- QDM Attribute: Result --> 
    <value xsi:type="TS" value="20210606" /> 
  </observation> 
</entry> 

Please let us know if you have additional questions.  Thank you. 

 


